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% Talk about disposable items we use in our lives.

Disposable items make our lives convenient. Paper cups, disposable chopsticks, and disposable dishes
are widely used around us. In effect, the wrappers and containers for various products are also
disposable. However, these disposable items hit the environment hard. Excessive use of such goods is
a waste of such goods is a waste of resources. It's also a culprit behind environmental pollution. The

only way out is to cut down on the use of disposable goods, or to recycle them.

| Key Vocabulary & Expressions

= make something convenient ~2 Hz|stA sict ®be widely used g2| AFEE|CH ®in effect AtAlAH
® hit something hard ~0f A3t otAske 7|X|C} ™ excessive use of ~2o| =3l AL

m waste of resources At HH| ®culprit behind ~o| =, 2ol mthe only way out St sjH

= cut down on ~g FHZsIC}

| Pattern Practice
1. hit something hard ~0f 4%t otds2 0 x|Ct
® These disposable items hit the environment hard. o|z{st Ys|g2Ee szof Aztst gakg 7%t

= The news really hit her hard. J4= 1 A4lg E1 gSoict

2. culprit behind ~o| Ft, Hol
= Disposable goods are also a culprit behind environmental pollution. 2822 sz ool F=®o|7|= s}ct.
= The police haven't found the culprit behind the crime. z#&e 1 w#z|o| Hole &x| £3Mof.

® A loose screw was the culprit behind the noise. =287l LiAI7L 429 2Q10|QICt

= The only way out is to reduce the use of disposable goods, or to recycle them.
U3 B8F MBS EO0|HLt M&E83t= 0| RYT siZHo|Ct.
® Apologizing is the only way out of this situation. o] Atglo| St sjZM Alupst= ok

m ] think this is the only way out. o| gto| 2st sjZ40|o}.
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% Talk about the importance of recycling.

Recycling is the best way to resolve the problem of excessive garbage. It takes decades for plastics to
decompose naturally. They are a primary cause of environmental destruction. The recycling rate of
plastics is very high in advanced nations where recycling has become a way of life. Collecting bottles
and aluminum cans and recycling them is also the way to go. Korea is a model nation when it comes

to recycling.

1 Key Vocabulary & Expressions
= resolve a problem 2XE sjzdsict m=take decades =4 Ho| Az|C}
® decompose naturally Xt@= oz =3s{z|C} = primary cause of ~o| FIQl mrecycling rate &5

® become a way of life 20| g|C} mthe way to go 7|% £& dt#! mwmodel (something) 3z, 2&7|
| Pattern Practice

®m Plastics are a primary cause of environmental destruction. ZatA&le 3t mtajo| & 2Qlo|ct.
m Allergies are the primary cause of my headaches. L £50| 2012 ¥z 7|o}.

= We need to identify the primary causes of this problem. o] 2xjo| Z= YolSS #totL{of df.

2. become a way of life 2!4to| £|ct

m Recycling has become a way of life in some countries. 25 Z7tojM= X{ZE0| YASIE QUL
= Smartphones have become a way of life in Korea. st=20jA AQIEZS UAMQI Z{0| |ULCt.

= Coffee shops were rare in the past, but they have become a way of life.

A= AHOEO| =X RUAKXIY, O|M= LO| EIRALH

3. model (something) 7|7, 227

m Korea is a model nation when it comes to recycling. s=2 =82 2 Al Q= 27} 0| SILiCH
= That project was a model example of how we should work.

1 Z2HEE 2|7t 2 OfYA siof st=Xl 20 & 2l oAt

® Her teachers all think she is a model student. 40| MMUSe os 142 DHAO|2tT AIZESHCY
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Expression of the Day

% Shame on you.
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: Hey, what are you doing? Don't throw that out.
: But I've finished using it. It's just garbage.
: Shame on you. You should wash it and use it again.

: You shouldn't have bought disposable dishes in the first place.

D Of, 1 8 3he AHU? 27 #2|x| o}
Do A, Y. aY Mr|Y woletm.
D HT13{2 T 2Oh. MOjA ChA| MOFX|.
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Homework
L= g8 =z2to] Hat AlstA ZAzct. (hit something hard)

. OA SUsE sjAMolate A LX|DH J2fE &t7| 440{. (the only way out)

3. L7t 3IAt0IM AEHAE = Z4e =2 11 mj20|o}. (primary cause of)

4. IfAEZETL AMO| £|E2 £ o gf. (become a way of life)

N

HWw

Answers

. The flu really hit me hard this year.
. I know it's the only way out, but I still don't want to do it.
. She is the primary cause of stress for me at work.

. You shouldn't let fast food become a way of life.

Extra Topics for Study Groups

. What are some ways that we can reduce our use of disposable items?
. Do you think disposable cups should be used inside a store, or only for take-out?

. What are some disposable items that you can't do without?




